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QUESTION 1

What is the primary function of a virtual server?

A. It balances traffic between real server pools

B. It manages real server resources

C. It processes client connections for application delivery
D. It detects real server vulnerabilities using VWS

Correct Answer: AC

QUESTION 2

Which three statements about TurboHTTP are true?

A. It does not support content rewriting.

B. It is supported only on Layer 2 and layer 4 virtual servers.
C. It support the use of secured HTTP traffic.

D. It can be used with Layer 7 virtual servers.

E. It reduces network latency and system CPU usage.

Correct Answer: ADE

QUESTION 3

An administrator is managing a web site that uses specialized servers for streaming, in addition to servers that handle
HTTP traffic.

To make sure that specialized servers handle the streaming traffic, what FortiADC capacity should they use?
A. Persistence rules

B. Content routing

C. Dynamic load balancing

D. HTTP compression

Correct Answer: B

QUESTION 4
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Which load balancing method requires the use of an SNMP health check?
A. Destination IP hash

B. Round robin

C. Dynamic load

D. Least connection

Correct Answer: C

QUESTION 5

An organization has decided to automate specific tasks by leveraging the fortiADC REST API. The tasks will perform
updates to existing items. Which REST API method should you use to update existing items on FortiADC?

A. PATCH
B. POST
C. GET
D. PUT

Correct Answer: D
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